arcsec

40

20

arcsec

0.25
0.20
< 0.15
0.10

0.05
0.00

100
50

2](degrees)

-50
-100

o[m

80

60

V (km/s)

20

o

UGC 06782

-20 0

arcsec

20 40

0
arcsec

-20

-+ | §

Cot ! ]

L | |

C + + ]

i + 4+ n +: Toart + T 4+ " + ]

u LR " N

L + T + i

- | ]

- | + 4]

i | + ]

L+ ‘ ‘ | ‘ ‘ i

10 20 30 40

Radius (arcsec)

] — ]

- Vi 1

r V3.6um 7

L Vi |

. | 4
|

i | |
|

i : |

- I —
|

i l |
1

i | |

[ I -
|

L | |
|

i : |

[ I -
I Thar

i l |
|

I I ‘ T ‘ i BN ‘ Y B ‘ T Y ‘ N Y ‘ I
10 20 30 40 50 60

Radius (arcsec)

0.60

0.45

10.30

10.15

-0.30

-0.45

-0.60

arcsec

0.0

0.6
0.3

0.2F

0.6F

0.5

0.2

0.1

-40 -20 0 20 40
arcsec
L L R L L
| h= 1.9
o h= 2.6
_ h= 47
rbar

10 20 30 40
Radius (arcsec)

10 20 30 40 50 60

Radius (arcsec)
Q.. AJ¥ L.
anlo—corr - A2(rbar) - 0.06
rgz:)lo—corr . ATax -
Qgarony . Vigum - 14.27 o2 km/s
o " : e - 65.25 arcsec

(Qparontyyhalo-corr . Vaeum(Rop) 1 14.27 o2 km/s
(rear-onlyyhalo-corr . drVseum(0) © 25.7F 29 km/s/kpc
Q(r,) : 0.167 2% M/M.(<R,p) : 19.42
Qe )1 0.02 a: 1.6kpc
€ ... V_: 51.0km/s
:\\\\\\\\\\\\\\\\\\‘\I\\\\\\\\\\\\\\\\\\\’
1

r - QT

— Q_rllalo-corr

_ Q_t|)_ar-only

_ Q_kl)_ar-only&halo-corr

I’bar

10

20
Radius (arcsec)

30 40



